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THE OPEN UNIVERSITY OF SRI LANKA " | e
BACHELOR OF MANAGEMENT STUDIES DEGREE PROGRAMME ,
LLEVEL 03

MCU 1205 - MICRO ECONOMICS

FINAL EXAMINATION - FEBRUARY 2012
DURATION - THREE (03) HOURS

DATE: 18" February 2012 : TIME: 9.30 a.m — 12.30 p.m

Answer part “A’ and any two questions (02) from part ‘B’.
PART “A”

(N a) Do you ‘agree’ or ‘disagree’ with each of the following statements? Using-
Tilustrations, explain your answer.

i) A shift in the supply, causes the price of a good to increase. The shift

~ must have been an increase in supply.

ii) The price of a good falls, causing the demand for another good to fall. .
The two goods are therefore complementary goods.

iii) If there is an increase in the demand and supply of a.good at the same
time; the price will clearly decline.

iv) There has been an increase in level of income of Sri Lankars in recent

. years. This change would likely to increase the demand for both

normal as well as inferior goods.

B (12 Marks) ’-
b) The demand and supply equations of good ‘x’, given as, N
Price in Rs. and quantity in 1000 units. '
i) ' Find the equilibrium price and quantity.
ii) Suppose the government introduces a maximum legal price at Rs-

12/=, what will be the economic consequences of this policy?

ir)  If the government imposes a tax of Rs. 2/= on every unit that is
being supplied, what will be the new equilibrium price and quantity?
How is the tax shared between consumers and suppliers?

iv) - Suppose there are 100000 identical consumers and 1000 identical
suppliers, find the market demand and market supply equations

{13 marks)
c) The demand equations for goods ‘a’ and ‘b’ are given as;

Q,=36-4p g, =24-05p

i}  Find the Own Price Elasticity of Demand for good'a', when price of
‘a’ is Rs.5/=.

‘i) Find the Own Price Elasticity of Demand for good ‘b” when price of
‘b’ is Rs.20/=.



)

iif) How should the price of ‘a’ and price of ‘b’ be changed to i mcrease the |
revenue eamed from these goods" Explain using illustrations.

iv) Whenatax is unposed on the supply, under what situation the
. incidence of tax falls wholly on,

) Consumers
. Producers

Explain using illustrations

(16 Marks)
d) Consider the following details and answer the given questions.
Income Elasticity of Demand of Fish 0.36
Cross Price Elasticity of Fish and Fish buns -0.42
Price Elasticity of Demand of Fish : 0.68
i)  How would the revenue earned from fish sales change during
economic booms and recessions?
i) How would the rise in price of ﬁsh affect the fish bun sales?
iii) If the government imposes a tax on the supply of ﬁsh how would this
affect the fish sales?
(9 Marks) .
(Total — 50 Marks)
PART ‘B’ )
a) i)  What is meant by the Law of Diminishing Marginal Utility? Explain.
. {4 Marks)
ii)  The total utility function of goods ‘x’ and ‘y’ given below.
Quantity 1 2 3 4 5 6 7
TU, 60 114 162 204 240 270 294
TU, 72 - 140 204 264 320 372 420
If price of a unit of ‘x’ is Rs.6/= and ‘y’ 1s Rs.8/=, Find the quantltles of x
and y that will maximize consumer satisfaction, if his income is Rs. 64/=
{7 Marks)
b) i)  What is Marginal Rate of Substitution (MRS)? Explain.
(3 Marks)

i)  Can the Indifference Curve have a positive slope? Explain, using
illustrations. (4 Marks)

]
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iii) ~Consider the following schedule of different combinations of apples

and bananas.
Combination A B C D E
Quantity of Apples (Qy) 20 15 11 8 6
Quantity of Bananas {Q,) 6 1 8 9 - 10

Draw the indifference curve of the consumer and calculate the
Marginal Rate of Substitute at each combination.

Does the abovc behaviour conﬁrm the principle of Diminishing MRS?
Explain.
(7 Marks)-

(3 a) Short Run Production Function of a firm is given below.

(i) Fill in the table

QL TPy, MP;, | APy

1 10

2 24

3 21

4 16

5 80

6 . 10

7 90

8 11
QL - - Quantity of Labour
TP, - Total Product of Labour
MP,. - Marginal Product of Labour
AP, - Average Product of Labour

(i) Identify the stages of production. Use illustration to explain.
(iif) What stage should the rational producer maintain his production?
Why shouldn’t he maintain the production in other stages?

, {15 Marks)
b) Prove that;

)] The Output Elasticity of Labour is equal to ratio of the Marginal and
Average Production of Labour

MP,

AP,

(i)  The Marginal Rate of Technical Substitution, Labour for Capital

(MRTS; k) is equal to ratio of the marginal productivity of labour
and capital

E =

MP,

MRTS,;, = (10 Marks)

K



(4) a) . Explain whether the following statements are ‘true’ or ‘false’. Use o
illustrations. ' R

(i) The short run supply curve of a Perfectly Competitive firm is that pért of . i
the marginal cost curve which is above its average variable cost curve. = = ..

(ii) Perfectly Competitive firm has to shiut down when the price of its
product is larger than its average variable cost ( P> AVC)
' ' (8 Marks)

b) Using illustrations explain how the Perfectly Competitive industry behaves
in the Long Run,
{i) When existing firms make losses in the short run
(i)  Existing firms make profit in the short run
(10 Marks)
c) “The Demand Curve faced by a perfectly competitive firm is more elastic
than the Demand Curve faced by a Monopolistically Competitive firm” Do
you agree? Explain.
(7 Marks)

5) a) Using illustration explain whether the following statements are “true” or
“false”. : o
i) There is a possibility that Monopolists incur losses in the short run.
ii) Monopolist maximizes its total revenue at the point where its
Marginal Revenue equals zero (MR = ()
iv) Relative to a Perfectly Competitive industry a Monopolist restricts
out put and charges a higher price
(18 Marks) -

b) “The kink Demand Curve model confirms that in Oligopolistic industries
there is some kind of Price Quantity Stability” Do you agree? Explain using
illustration.

(7 Marks)

~Rights Reserved-
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